

HW:

5b)

$$\Delta x = \frac{2k}{n}$$

$$\lim_{n \rightarrow \infty} \sum_{k=1}^n \frac{2k^3}{n^3}$$

$$= \lim_{n \rightarrow \infty} \sum_{k=1}^n \left(\frac{k}{n} \cdot \frac{2}{n} \right) \frac{k^2}{n^2}$$

$$= \lim_{n \rightarrow \infty} \sum_{k=1}^n \frac{x_k^2}{4} \Delta x$$

$$= \int_0^2 \frac{x^2}{4} dx$$

$$= \frac{2}{3}$$

Week 4.

9.16.

Integration by Parts.

Last time, we use chain rule to get anti-derivatives, now, we want to use product rule

$$\frac{d}{dx} [f(x)g(x)] = f(x)g'(x) + g(x)f'(x)$$

Integrate to see we get.

$$\int (f(x)g'(x) + g(x)f'(x)) dx = f(x)g(x) + c.$$

$$\Rightarrow \int g(x) dx = dy, \quad \int f(x) dx = f'(x) dx.$$

$$\int f(x)dy(x) + y(x)df(x) = f(x)y(x)$$

Recall it, we get:

$$\int f(x)g'(x) \cdot dx = f(x)g(x) - \int g(x)f'(x) \cdot dx$$

$$u = f(x), v = g(x)$$

or $\int u dv = uv - \int v du$

Good idea: the one that is simpler than the other

Ex 1: $\int x \sin(x) \cdot dx$ $u = x, v = -\cos x$

$$= -x \cdot \cos(x) + \int \cos x \cdot dx$$

$$= \sin(x) - x \cdot \cos x + C$$

Ex 2: $\int \ln(x) \cdot dx$

$$= x \ln(x) - \int x \cdot \frac{1}{x} dx$$

$$= x \ln(x) - x + C$$

Ex 3: $\int t^2 e^t dt$ $\int 2t e^t$

$$= \int t^2 e^t = t^2 e^t - \int 2t e^t dt$$

$$= t^2 e^t - 2t e^t + \int 2e^t dt$$

$$= t^2 e^t - 2t e^t + 2e^t + C$$

$$\text{Ex 3} \int e^{x \sin(x)} dx \quad - (e^{\sin(x)} + \int \sin(x) e^{\sin(x)} dx)$$

$$\begin{aligned} &= \int \sin(x) e^{\sin(x)} dx = \sin(x) e^{\sin(x)} - \int \cos(x) e^{\sin(x)} dx = \\ &= (\sin(x) - \cos(x)) e^{\sin(x)} - \int \sin(x) e^{\sin(x)} dx \end{aligned}$$

$$\Rightarrow 2 \int e^{\sin(x)} dx = (\sin(x) - \cos(x)) e^{\sin(x)} + C$$

$$\Rightarrow \int e^{\sin(x)} dx = \frac{\sin(x) - \cos(x)}{2} e^{\sin(x)} + C'$$

Für weitere Integrale:

$$\int_a^b u dv = uv \Big|_a^b - \int_a^b v du.$$

$$\begin{aligned} \text{Ex. } \int_0^1 \ln(x) dx &= x \ln(x) \Big|_0^1 - \int_0^1 \frac{x}{x} dx \\ &= \frac{1}{4} - \frac{1}{2} \ln 2 \end{aligned}$$

Ex 3: Wie die rekurrenzformel:

$$\int \sin^n(x) dx = -\frac{1}{n} \cos(x) \sin^{n-1}(x) + \frac{n-1}{n} \int \sin^{n-2}(x) dx$$

$$u = \sin^{n-1}(x), \quad v = -\cos(x)$$

$$\int u \, dv$$

$$= -\sin^{n-1}(x) \cdot \cos(x) + h \int (\cos(x) \sin^{n-2}(x)) \, dx$$

$$= -\sin^{n-1}(x) \cdot \cos(x) + (h-1) \int (1-\sin^2(x)) \sin^{n-2}(x) \, dx$$

$$= -\sin^{n-1}(x) \cdot \cos(x) - (h-1) \int \sin^{n-2}(x) \, dx + (h-1) \int \sin^{n-2}(x) \, dx$$

$$\Rightarrow h \int \sin^{n-2}(x) \, dx = -\sin^{n-1}(x) \cos(x) + (h-1) \int \sin^{n-2}(x) \, dx$$

$$\Rightarrow \int \sin^{n-2}(x) \, dx = \frac{-\cos(x) \cdot \sin^{n-1}(x)}{h} + \frac{h-1}{h} \int \sin^{n-2}(x) \, dx$$

$$\text{Ex 5: } \int x \cdot \sin(x) \cos(x) \, dx = \int x \cdot \sin^2(x) \, dx$$

$$= x \cdot \sin^2(x) - \int \sin^2(x) \, dx$$

$$= x \sin^2(x) - \int \sin^2(x) \, dx - \int \sin^2(x) \cos(x) \, dx$$

$$\Rightarrow 2 \int \sin^2(x) \cos(x) \, dx = x \cdot \sin^2(x) - \int \sin^2(x) \, dx$$

$$\int \sin^2(x) \cos(x) \, dx = \frac{1}{2} x \sin^2(x) - \frac{1}{4} x + \frac{1}{8} \sin^2(x) + C$$

$$\text{Ex 6: } \int e^{6x} \sin(e^x) \, dx$$

$$(e^x) = u \Rightarrow du = e^x \sin(e^x) \Rightarrow v = \frac{1}{3} \cos(e^x)$$

$$\int e^{6x} \sin(e^x) \, dx = -\frac{1}{3} e^{6x} \cos(e^x) + \int e^{6x} \cos(e^x) \, dx$$
$$= -\frac{1}{3} e^{6x} \cos(e^x) + \frac{1}{3} \sin(e^x) + C$$

$$\text{Ex 7: } \int_0^{\frac{1}{2}} \cos^{-1} x \, dx.$$

$$\text{Recall: } (\cos^{-1} x)' = -\frac{1}{\sqrt{1-x^2}}$$

$$\begin{aligned} \Rightarrow \int_0^{\frac{1}{2}} \cos^{-1} x \, dx &= x \cos^{-1} x \Big|_0^{\frac{1}{2}} + \int_0^{\frac{1}{2}} \frac{x}{\sqrt{1-x^2}} \, dx \\ &= \frac{\pi}{3} - \frac{1}{2} \int_0^{\frac{1}{2}} \frac{2x \, dx}{\sqrt{1-x^2}} \\ &= \frac{\pi}{3} - \sqrt{1-x^2} \Big|_0^{\frac{1}{2}} \end{aligned}$$

$$\stackrel{(*)}{\text{Ex 8:}} \quad f'(a) = g'(a) = 0, \quad f'' \neq g'' \text{ at } a \Rightarrow \text{?}$$

$$\int_a^b f(x) g''(x) \, dx = f(b) g'(b) - f(a) g'(a) + \int_a^b f'(x) g(x) \, dx.$$

$$\text{Proof: } \int_a^b f(x) g''(x) \, dx = \int_a^b f(x) \, d g'(x)$$

$$= f(x) g'(x) \Big|_a^b - \int_a^b f'(x) g'(x) \, dx \quad (\text{by I.I.T.})$$

$$= f(b) g'(b) - \int_a^b f'(x) g'(x) \, dx \quad (\text{by I.I.T.})$$

$$= f(b) g'(b) - f(a) g'(a) + \int_a^b f(x) g''(x) \, dx.$$